Advanced Chemistry Name }4&,4
Redox Reactions U

Mock Test

Part 1: Determining Oxidation Numbers

Instructions: Determine the oxidation number of each bolded element in the following substances.

1. CoinCoCl, 12 6. AsinAss_O 11.Fe in Fe3(POa)_1Z
2. Cincocl _+4 7. PinHPO3;_ 15 12.Crin Cr072_* b
3. MninMn(i"_jl_ 8. CainCa%_1/ 13.0inOF;_12 _

4. 0ink,0,_ =l 9. 0inRbO, Yz  lacincos *t7
5. BrinHBro _ +] 10.Brin MgBr._— | 15.Hin CaHs_~

Part 2: Identifying Redox Reactions

Instructions: Determine which of the following equations represent redox reactions. MUST SHOW
OXIDATION NUMBERS for full credit! If it is a redox reaction, determine which element is oxidized and

which is reduced.
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1) Nal + 3HOCI = NalOs + 3HCI
T = Ovdi zed
Cl= raduwd
+ 1522 =) o
2) 2KCIO3 = 2KCI+ 302
¢l = redued
0= pridized
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3) 2NH4Cl + Ca(OH)2 = 2NH3 + 2H,0 + CaCl;

N0 redpy reaction

Part 3: Writing Half Reactions & Balancing Redox Reactions

Instructions: Write the half reactions for each of the following equations. Identify which reaction is

oxiaation and which is reduction. Next balance it under acidic conditions. Finally, balance it under
basic conditions.

1] CrOg!+S%=> CP* +850:*
a) Half Reactions

e + §H™+ CrOF' = (1* +uiz0
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b) Which reaction oxidized? Which reaction is reduced?
@ 7 e ¥R GOl — (3 vap0 (reducion)
HO+ 57— SOF 130 18- (ppidetio)
¢) Balanced Redox in Acidic Conditions
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d) Balanced Redox in Basic Conditions
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FH20 + ZC(‘O:.;’ s 52’_) ZC(Z’-}SO%;- + D0 + SOH

| 4420 126,07 457, 202+, o7 v g

2) Zn+ NO3' > Zn?" + NH4"!
a) Half Reactions

G Zn =¥ 20 4;,-

- + -1
Be-+ IOH+ NDZ' — b F 31,0

b) Which reaction oxidized? Which reaction is reduced?
Zo = 70 t2e-  (ovidstion)
e+ JoH'+ Nz '+ 3420 (peduchion)
¢) Balanced Redox in Acidic Conditions
a L{Zﬂ"qzny.{-k
S+ 10K FAD3 = WA+ 3020

M' +NO3' # Y20 = Yza** ) NHE' +5H2@

d) Balanced Redox in Basic Conditions

706120 +NO3'+ 4Zn— 470" 1 NHs' + 24D + fo OH”
E»zo FNO3 +HZo =4 420" 4 W' + 1D 0H" )
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